Unit 1- Quiz 1: Transformations
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‘Which transformation would produce an image with vertices 4'(-2, —2), B'(9, —6), C'(9, —2)?
1G.€C0.2, G.CO4, G.COS5|

8. areflection over the -axis
b, areflection over the y-axis
c. arotation 90° clockwise

d.  a rotation 90° counterclockwise




image7.png
The vertex of a figure is located

at (2,4). The figure is rotated and

the image of the vertex is located
at (4,-2). Which of these
describes the transformation?

a.
b.
c.

reflection over the x-axis
reflection over the y-axis
rotation of 180° counter-
clockwise

. rotation of 270° counter-

clockwise
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Reflection of a trapezoid across intersecting lines
a. 1 point. On the grid provided, reflect trapezoid ABCD over the y-gxis. Label the
corresponding vertices of the image A', B', C' and D' respectively.
b. 1 point. Now, reflect this image, trapezoid A'B'C'D', over the x-xis. Label the
corresponding vertices A", B", C" and D", respectively.
c._1point. Identify the vertices of the images in the table below.

Pre-mage Reflection over the y-axis Reflection over the x-axis
Vertex  Ordered Pair Vertex  Ordered Pair Vertex  Ordered Pair
A (23) 3 A
B (4.2) 3 8"
c (62) c c
D 35) o D"
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Triangle QRS s translated four
units to the left and two units up.
Which ordered pair is a vertex of
the translated image?

a. (-1,3)

b. (1,-3)

c. (1,3)

d. (3.1)
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1. Which of these describes the
transformation of the triangle?
a. Reflection over the x-axis

b. Reflection over the y-axis

c. Rotation of 90° clockwise about
the origin

d. Rotation of 180° clockwise
about the origin
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What are the coordinates of each vertex if the figure is rotated 90° counterclockwise about the origin?
16.C0.2,G.CO.4, G.CO5|

8. A(2,2),8(5 -2,C(3, -6,DG, -4
b A2, -2),58(52),C'(3,6),D'(-3,4)
e A2 -2,8(-52,C36,00G4

d. 422,86, -2),C'G, -6),D'(-3,

4
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Describe the transformation done on AFKW to form ARNG.
[6.C0.2,G.CO.4,G.COS|

. rotation about the origin 90° counterclockwise
b.  rotation about the origin 90° clockwise
¢ reflection over the x-axis

4. translation S units right and 9 units up




image5.png
A triangle has vertices at A(-7, 6), B(4, 9), C(~2, — 3). What are the coordinates of each vertex if the triangle is
translated 4 units right and 6 units down?

[6.C02,G.CO4, G.CO.S|

a A(-11,12), B'(0,15), C'(-6, 3)

b. A'(-11,0), B'(0,3), C'(-6, =9)

e A'(-3,12),B'(8,15),C'(23)

a4 A3 0 B(R 3 C'(0 —9)
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